Elementary Algebra


Quiz chapt 4 A




        






Name:

Show all work!     Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.  Work should be organized so that the steps can be followed in order, from start to finish.


1.
Solve the system
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2.
Solve the system



    
[image: image3.wmf] 42

xy

-=





[image: image4.wmf]3128

xy

-+=-


3.
Ron has 14 coins with a total value of $2.30. The coins are nickels and quarters. How many of each does he have? (Remember the four parts you get credit for.)

Relax!
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